Divide by Powers of Ten (A)

Find each quotient.

72 +0.1= 1-+1,000 =
70+0.1 = 78 0.1 =
75+0.01 = 96 - 100 =
51+ 0.001 = 51 +0.1=
61+ 100 = 15+ 10 =
98 +-1= 99 +- 1,000 =
21 +0.001 = 85 +0.01 =
31+100= 42 = 0.001 =
4 +-0.01= 63 +0.001 =
78 +0.001 = 44 - 0.1 =
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Divide by Powers of Ten (A) Answers

Find each quotient.

72 +0.1=720 1+ 1,000 =0.001
70+ 0.1=700 78 +0.1 =780

75+ 0.01=17,500 96 =100 =0.96

51 -+0.001 =51,000 51-+0.1 =510

61 +100=0.61 15+10=1.5

98 +-1=98 99 =+ 1,000 = 0.099
21+ 0.001 = 21,000 85 +0.01 =8,500
31+100=0.31 42 <+ 0.001 =42,000
4 +0.01 =400 63 = 0.001 = 63,000
78 =+ 0.001 = 78,000 44 <+ 0.1 =440

Math-Drills.Com




